TRANSCRIPT PREPARED BY THE CLERK OF THE LEGISLATURE
Transcriber®s Office
BQ.QR. DEBATE

May 7, 2001 LB 620

people. In other words, they®"re not going to need as many
people to do their business. But if...

SENATOR CHAMBERS: But here®s the...in each of these cases, oh,
and then there”s another one; $200 million and you produce 500
jobs.

SPEAKER KRISTENSEN: Right, that"s the super tier.

SENATOR CHAMBERS: So the first two are exactly the same because
the structure of the language is the same, this investment iIn
qualified property. So each is going to have to make an
investment in qualified property.

SPEAKER KRISTENSEN:  Yes.

SENATOR CHAMBERS: But one can invest $50 million and have to
produce 500 jobs;...

SENATOR CUDABACK: One minute.

SENATOR CHAMBERS: ...another $200 million and produce 500 jobs.
Why invest $200 million when you can get away with investing
$150 million less or only $50 million?

SPEAKER KRISTENSEN: Because the benefit is different. If you
do the $200 million and 500 jobs, then you"re eligible for the
investment tax credit which you"re not eligible for on that
other tier, the 500 jobs and $50 million or the 250 jobs and
$100 million.

SENATOR CHAMBERS: So then the only one who is entitled to the
investment credit is the $200 million investor.

SPEAKER KRISTENSEN: Yes.

SENATOR CHAMBERS: And the other two can only get the wage
benefit credit.

SPEAKER KRISTENSEN: Yes.
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